4| PACKET 2.2: INTRO TO PROOFS

Practice 2.2: Introduction To Proofs

Support each conclusion with a valid reason.

1. Given: x - H2 =12 2. Given: 23(2 + x) = 2350 3. Given: Sx — 7x =20
Conclusion: x =54 Conclusion: 2+x=10 Conclusion:  -Hx = 20°
Addition Property Division Property Combive Like terms
4. Given: -x = 34 5. If1I2=dadd-=x, 6. GH =GH
Conclusion: x = =34 then 12 = x. Reflexive Property
Multiplication/ Division Property Transitive/Substitution Property

Fill in the missing statements or reasons for the following two-column proof.

Given: uy —20 = 100 Prove: x =30 Given: 12 _yv - 10 Prove: x=2
Statement Reason Statement Reason
¥ 1. U4 —20 =100 1. Given Q1. 2-x=10 1. Given
) N o _ .
8|2 Hx =120 2. Addition Property 2 2. -x =-2 2. Subtraction Property
> <
A 3. x = 30 3. Division Property A 3. x=2 3. Division Property

Given: sy 4+ 20 = 20 + -2« Prove: x=0 Given: 12 - ¢ =10 Prove: x=2

Statement Reason Statement Reason
o1 5es 20220 - 2| 1. Given o1 12-x=T0 1. _Guven
+ 2. 5x = =2x 2. Subtraction Property i 2 12 =10 + x| 2. Addition Property
2|3. 7x=0 3. Addition Property § 3. 2=x 3. Subtraction Property
= 4. -0 4. Division Property - 4 x =2 4. Symmetric Propoert

Given: 10 — 3(4x — 2) +1=77

Statement Reason

1. 10-3(Hx-2)+1=77 1. Given

2. —3(Mx-2)+1=067 2. Subtraction Property
3. — 3(Hx — 2) = 66 3. Subtraction Property
4. -12x + 6 = 66 4. TDistributive Property
5. -12x =60 5. Subtraction Property
6. 6. Division Property






